FIGURE 3.2 HM The Game Tree for the EVL Theory With Payoffs

O1 Government keeps bepeflt; Exit Citizen Loyalty 02: Goy_ernment keeps benefit;
citizen opts for some substitute. citizen suffers loss.
E, 1 0,1+L

Voice

Government

Citizen
03: Government returns

benefit to citizen.
1-c,L

Loyalty

04: Government keeps benefit; O5: Government keeps benefit;
citizen opts for some substitute. citizen suffers loss.
E-c,1 O0-c,1+L

Note: E = citizen’s exit payoff; 1 = value of benefit taken from the citizen by the government; L = government’s
value from having a loyal citizen who doesn’t exit; ¢ = cost of using voice. It's assumed that ¢, L > 0, and that
E <1 -c.Thecitizen's payoffs are shown first because they're the first player to make a choice; the govern-
ment’s payoffs are shown second. A comma separates the payoffs for the two actors.



